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HCF of two consecutive even numbers is :
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A quadrétié polynomial, whose zeroes are 4 and Bis:

L 8) x5 | B)  xP-x+6
() x*-x-12 (d) x*+2x-6

3. The 30 th term of the A.P.10,7,4....1is:

() 87 . ()
LA (d)

 The nature of the roots of quadratic equation 2x*+ x + 4 =0 is

.

- (a) norealroots (b)  real roots

() equal roots , : ’ (d) none of these




. énds, of the fadii 5
. (@ W | 50°
oy d)  40°
J The distance between the points (0, 6) and (0, -2) is :
ié) 5 units (b) 6 units
(c) 8 units 4 (d) 3 units

In the given figure, value of x (in cm) is:

alue of (+cosA) (1-cosh) cosecA is -
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16. 1If o and P are roots of the equation 2x?+ 3x + 5= 0, the value of (a+p) will be:

@ % | o). %
© % (&) =%

"‘:,1.7., ~ The empirical relation for measuring the mode is :

() Mode =3 Median - 2 Mean

~ (b) Mode =3 Mean - 2 Median

i ,!(‘c)' Mode = 2 Median - Mean
,(d) Mode = 2 Mean - Median

tan@® .‘,3_,‘th?nthe,"val,ueof\ 4sin0“-¢;o.s.9‘ is
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19.

20.

: In the questions number 19 and 20 , a statement of assertion (A) is followed
by a statement of reason (R). Choose the correct option :
(a) Bo.th assertion (A) and reason (R) are true and reason (R) is the correct

explanation of assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct

explanatjon of assertion (A)
i) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) js true.
Statement A (Assertion) : The point (0, 6) lies on y-axis 1

Statement R (Reason) : The x-co-ordinate of the point on y-axis is zero.

Statement A(Assertion) : Height AB in the figure is 20 metres if BC is 20 metres.

AB Perpendicular
Statement R(Reason) ’Fane = BC o pBase .
where 06 ié ZACB .
C 45° B
SECTION-B

‘Section B consists of 5. questlons of 2 marks each.

9.
o2

23

Assuming that /2 is irrational, show that 5,/2 is an irrational number

Solve for xandy 21x + 47y =110
47x + 21y =162
OR

The difference between two numbers is 26. If one number is thrice the other,

" find the numbers.

: ' 1 |
If tan(A +B)=+/3 and tan(A-B) = 73+ 0°<A+B=<90° and A>B, then find the

measures of angles A and B.
OR

gin 60°

' " Flnd the Value of —/ZSG _ 3tan30° + 5c0s90°

0S




24.  Find the number of revolutions made by a circular wheel of area 1.54 m? in rolling
é distance of 176 m.

25, Inthe adjoining figure, ZACB = ZCDA if AC=8 cm and AD=3 cm find BD. 2
' | C
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- SECTION-C
Section C consists of 6 questions of 3 marks each.
26. Determine the zeroes of the polynomial p(x) = 2x2-11x+15. Aslo verify the relatiohship
between the zeroes and the coefficeint. ' 3
27.  The centre of a circle is (2a, a-7). Find the values of 'a' if the circle passess through
the point (11,-9) and has diameter 104/2 units. 3
L OR
~ Show that the points (1, 7), (4, 2), (-1, -1) and (- 4, 4) are the vertices of a square.

..28. In.the figure , PQ and RS are the common tangents of two circles intersecting atO,

prove that PQ = RS

_ Prove that a rectangle circumscribing a circle is a square.

e | 1—EosA ‘ '
i a0 » —————— & cosecA —cotA.
29 . Prove that. \/;::;: S
30, Ina sihgle throw of a die, find the probability of getting :
. (@) a pfime number

~ (b) anumber lying between 2 and 6

(c)  an odd number .
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- Find the median marks for the following frequency distribution :

' Marks 0-20 20-40 | 40-60 | 60-80 | 80-100
No, of students 7 12 23 18 10
SECTION -D

Section D consists of 4 questions of 5 marks each.

32.

3.

34.

Prove that if a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points then other two sides are divided in the same ratio. Using
above theorem prove that a line drawn through the mid point of one side of a
triangle parallel to fhé another side bi‘sects,the third side. 9
The angle of elevation of the top of a tower from a certain point is 30°. If the observer
moves 20 metres towards the tower, the angle of elevation of the top increases by
15°. Find the height of the tower. D
OR
The shadow of a tower standing on a level plane is found to be 50 m longer when
sun's angle of elevation is 30° than when it was 60°. Find the height of the tower.
Find the area of the shaded design in given figure, where ABCD is a square of sidé

10 em and semicircles are drawn with each side of the square as diameter.

(use = 3.14) A B : 5

OR




In the figure, ABCD is a rectangle of dimensions 21 cm x14 cm. A semicircle is

drawn with BC as diameter. Find the area and the perimeter of the shaded region in

the tigure. A 2em B

s

35. A train travelling at a uniform speed for 360 km, would have taken 48 nﬁnﬁtes less
to travel thé same distance if its speed were 5 km/hr more. Find the original speed
of the train. . 5
SECTION-E
: | CaSe Study Based Questions are compulsory.
‘. 36 >Read the text carefully and answer the questions :
' In a toy rﬁanufactufing company wooden parts are

o assembled and painted. One shape of cone mounted

ona chindér as show in figure. The total height of
- the toy is 26 cm and the height of its conical part is

6 cm. The diameters of the base of conical part is
s

. 5cm and that of the cylindrical part is 4 cm :

J 7
(a) If its cylindrigal part is to be painted yellow find the surface area need to bé

paintg’d. ’ N /
(b) Ifits conical part is to be painted green, find the suface area need to be painted. 2

OR

Find the volume of the wood used in making this toy. ;

8 PTO.




Savm. SR LS g -
; sy na g°0d hab1t and it should be mculcated,

days he can contribute to put the five-rupee coins into it.

(ii) Find the total money he saved.

(iif) How much money'-Ak"sflar sa\;es in 10 days ?

OR




Read the text carefully and answer the questions.

Akshat stﬁdies in a Public school, in a city. During summer vacation he went to ‘
native place in a village. His grandfather took him to the bank of a nearby river. Akshat
was very happy to see the pollution free environment near the river. He was standing
on the bank of the river .He though to measure the width of the river. He found that
the angle of elevation of the top of a tree standing on the opposite bank was 60°. When

he moved 30 m away from the river the angle of elevation reduced to 30°.

(i) What is the height of the tree ?

-

(ii) What is the width of the river ? 1

(iii) After‘.movig how much distance away from the river the angle of eievation
becomes 45°. )

OR

If the width of the river were 40 m then what would be the height of the tree selected ?
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